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In [7]: dimport timeit
from io import BytesIO

shortStrSource = [b'foo'] * 1000

longStrSource = [b'fasdfasdfasdffffffffffffffffffffffffffasdfasdfasffhsdfklasdhfashlfashfhsthasjkffhasdlfhasd
klfhwerlnvnvxcnv.xc,nv.xcnv.nv.zxcnvasdjkfhsdk;jhvzxc.m,vnasdkjfhzxc.vnxfjhasdvnzxc, .vnasdklfhxvnzxvbadshfbal
hfasdjlhfgasdjkfgsdkjfgaskfgaskjgfasdkfgaksjfgaskjbxc,nzvoo'] * 1000

In [8]: %%timeit out = bytearray()
for x in shortStrSource:
out += X

50.2 ps + 262 ns per loop (mean * std. dev. of 7 runs, 10000 loops each)
In [9]: %%timeit out = bytearray()

for x in longStrSource:
out += x

1.09 ms £ 4.74 pus per loop (mean = std. dev. of 7 runs, 1000 loops each)
In [10]: %%timeit out = b'’

for x in shortStrSource:
out += X

5.22 ms * 136 ps per loop (mean * std. dev. of 7 runs, 100 loops each)
In [11]: %%timeit out = b"'

for x in longStrSource:
out += X

476 ms + 16.6 ms per loop (mean % std. dev. of 7 runs, 10 loops each)
In [13]: %%timeit out = BytesIO()

for x in shortStrSource:
out.write(x)

67.7 us * 232 ns per loop (mean * std. dev. of 7 runs, 10000 loops each)
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In [14]: %%timeit out = BytesIO()
for x in longStrSource:

out.write(x)

1.14 ms £ 12 ps per loop (mean * std. dev. of 7 runs, 1000 loops each)
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